

# གཤམ་གྱི་གྲངས་རྒྱུ་ལ་བཞུགས་ཏེ་སྒྲིམ་སྒྲིལ།

$60 = 60 + 0$   
 $+ 34 = 30 + 4$

---

$60 + 4 = 64$

$43 = \dots + \dots$   
 $+ 12 = \dots + \dots$

---

$\dots + \dots = \dots$

$27 = \dots + \dots$   
 $+ 33 = \dots + \dots$

---

$\dots + \dots = \dots$

$34 = \dots + \dots$   
 $+ 13 = \dots + \dots$

---

$\dots + \dots = \dots$

$26 = \dots + \dots$   
 $+ 43 = \dots + \dots$

---

$\dots + \dots = \dots$

$$\begin{array}{r}
 63 \quad 270 = \underline{\quad} + \underline{\quad} + \underline{\quad} \\
 + 163 = \underline{\quad} + \underline{\quad} + \underline{\quad} \\
 \hline
 \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}
 \end{array}$$

$$\begin{array}{r}
 27 \quad 402 = \underline{\quad} + \underline{\quad} + \underline{\quad} \\
 + 333 = \underline{\quad} + \underline{\quad} + \underline{\quad} \\
 \hline
 \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}
 \end{array}$$

$$\begin{array}{r}
 17 \quad 563 = \underline{\quad} + \underline{\quad} + \underline{\quad} \\
 + 200 = \underline{\quad} + \underline{\quad} + \underline{\quad} \\
 \hline
 \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}
 \end{array}$$

$$\begin{array}{r}
 17 \quad 42 + 43 \\
 = (40 + 2) + (\underline{\quad} + \underline{\quad}) \\
 = \underline{\quad} + \underline{\quad} \\
 = \underline{\quad}
 \end{array}$$

$$\begin{array}{r}
 107 \quad 37 + 31 \\
 = (\underline{\quad} + \underline{\quad}) + (\underline{\quad} + \underline{\quad}) \\
 = \underline{\quad} + \underline{\quad} \\
 = \underline{\quad}
 \end{array}$$